
CBAI Provincial TD Exam – Some Sample Questions that you might expect:- 

 

Q.1   

Declarer (South) wins trick 1 in hand but leads from dummy to trick 2.  West 
wants to accept the lead.  How should the TD rule? 
 

 

Q.2   

Must the following cards be played? 
 
(1)  Declarer takes a card out of his hand, puts it on the table, then lifts it  

 back immediately (saying ‘Whoops’).  Everyone sees it. 
 

(2)   Declarer lifts a card from dummy, then puts it back immediately and lifts    
   another card (saying ‘Whoops’). 
 

 

Q.3  

Your club uses travellers.  When you arrive home and start to do the scoring, you 
find the following two mistakes on the travelling score slips.  Do you change them?  
Yes or No? 

(1)  Board 2 (N/S Vul):  Every N/S pair played in 4 and they all scored 650 or 
620 except one who scored 420. 

(2)  Board 3 (E/W Vul):  N/S scored +50 for 2-1 by E. 
 
 

Q.4 

 ♣  A 6 5 2 

♣  9 7 ♣  Q 8 3 

♣  K J 10 4 
 
South is declarer in 3NT.  At trick 6, South leads ♣J from his hand and West takes a 

long time before playing ♣7.  Declarer let the Jack run losing to East’s Queen. 

 

South calls the TD telling him that he was misled by the long pause by West.  West 

says he was deciding whether or not to give count.  Does the TD adjust the score or 

not? 

  



 

Q. 5 

You have been put in charge of running a 3 session pairs event.  You have been 

given a list of 67 pairs (8 Regional Masters, 49 Inter A’s and 10 Inter ‘B’ pairs). 

How will you prepare for this event and what do you need from the event organiser? 

 

 

Q. 6 

You have been put in charge of running a 2 session congress pairs event.  You have 

been given a list of 27 pairs (7 National Masters, 12 Area Masters, and 8 Inter ‘A’ 

pairs). 

How will you prepare for this event and what do you need from the event organiser? 

 

 

Q. 7 

You have been put in charge of running a 2 session congress teams event.  You 

have been given a list of 19 teams (7 National Masters, 7 Area Masters, and 5 Inter 

‘A’ teams). 

How will you prepare for this event and what do you need from the event organiser? 

 

 

Q. 8 

Team 1 and Team 2 have 112 VP each at the end of a 2 session event.     
Both teams have played 8 matches.  Team 1 has won 5 and drew 3.  Team 2 has 
won 4 and drew 4.  Team 1 won 120 imps and lost 80.  Team 2 won 140 imps and 
lost 105.  The teams did not meet.  You are asked to break the tie. 
 


